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SA JIEZAE
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5,000,000 5,000
202 04l 9,000 9,000
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tlatd s 29 2,000 12,000 10,000
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POOL OlatE=d 175,000 175,000 0
3 MHEXE 175,000 175,000 0
201 =3 145,000 145,000 0
01 At22t2l] 145,000 145,000 0
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B e o S)jgay
ool Moo LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e 2 AKX 22 1,000 1,000
201 er23 | 1,000 1,000
01 At2teltl 1,000 1,000
OgNgs =8 1,000,000& 1,000
RS X 3,000 2,000 1,000
201 er=23y| 1,000 1,000 0
01 AtR2t2|HI 1,000 1,000 0
Oogegt+=EHI 1,000,000 1,000
303 Zal= 2,000 1,000 1,000
01 2= 2,000 1,000 1,000
O Hgd 2+24 La=
1,000,000 1,000
OANEL 242322 TN
1,000,000& 1,000
NIy N 3,000 3,600 A600
201 fer= 3| 3,000 3,000 0
01 AtR2tc|HI 3,000 3,000 0
Oget=EH| 3,000,000& 3,000
SHIZA 236,800 118,543 118,257
< 37,8%
s 193,704
= 5,200
AR Z=SHZALKA 53,590 47,539 6,051
== 16,079
[Ea 37,511
101 e124d| 15,771 14,196 1,575
< 4,733
s 11,038
M ORIMZZ2NSE S 16,771 14,196 1,575
OXAIRE 14| 15,771,000& 16,771
= 4,733
o 11,038
201 er2 3| 37,819 33,343 4,476
=S 11,346
s 26,473
01 AtR2t2|HI 37,819 33,343 4,476
OSAHZEAL Z5XAE &5+
37,819,000 37,819
< 11,346
= 26,473
S22 AR X ZENLSH A 54,210 52,504 1,706
= 21,817
Ea 27,193




SA JIEZAE
B B o S)oay
Rl SHZAL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,200
101 @1A4H| 10,942 10,414 528
=S 5,47
s 5,47
04 JIZtN2Z2XNSE 10,942 10,414 528
OZAIRE el2dd| 10,941,961 10,942
& 5,47
Ea 5,47
201 er23 | 43,268 42,090 1,178
= 16,346
o 21,722
= 5,200
01 At22t2ltl 43,268 42,090 1,178
OSAHAZA E5=AE =t
24,627,200 24,628
= 12,314
= 12,314
Ogegt+=ZHI 18,640,000 18,640
=S 4,032
s 9,408
= 5,200
SH=Z 19,000 18,500 500
201 er=23y| 14,100 13,600 500
01 AtR2t2|HI 14,100 13,600 500
Oogegt+=EHI 5,500,000 5,500
OAE M AL 20 22t
36,000 * 1002 3,600
ORNl622] SHAE et 50,0002 x 1005 5,000
202 04t 4,900 4,900
01 =LHOHI 4,900 4,900
HRSHYEF =AY 4,900,000 4,900
SHZEA 110,000 110,000
308 AtXIEMSOIE 110,000 110,000
11 B[ 2S0He 4 EAS A 110,000 110,000
OXSSH e 110,000,000 110,000
& 2el 5,278,413 7,101,612 1,823,199
oidl bl 2t 5,278,413 7,101,612 1,823,199
oiildl2tel 5,278,413 7,101,612 1,823,199
801 ofieI| 5,278,413 7,101,612 1,823,199
01 Letolblsl 3,248,413 4,101,612 A853,19
Oggt olibll 3,248,413,000& 3,248,413
02 THoH - H=HodIH| 2,000,000 3,000,000 1,000,000




FA JIEZAY
Zu: Qe
Sl bl 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMal - =X ol
2,000,000,000& 2,000,000
B URE=REsS 30,000 0 30,000
Oous=rE= 30,000,000& 30,000
HY2AIHI(DIEZALA) 44,418 46,350 1,832
JI2BHI(O122AH) 44,418 46,350 A1,932
Jl=23H] 44,418 46,350 A1,932
201 er23| 37,818 36,550 1,268
01 At2teltl 34,704 33,436 1,268
Odgt+==t| 7,380,000& 7,380
Ozl 7,500,000& 7,500
O=AD| gxtz 330,000 «1CH* 122 3,960
O&=D| gX= 41,0002 =2CH* 122 984
OHEEH 425 2L 14,880
-2l Zely 10,560
e 440,000 x2CH x4 523 7,040
== 440,000 x2CH =42] 3,520
-tz elg 200,000 *9LH*22] 3,600
FAX 120,000& »2CH*33] 720
02 S3=gHl 3,114 3,114 0
O"gE &l |RAE=H| 3,114
-OIISAMRI101 1,300, 0002 *34CH*5% 2,210
-Ze2lf 4,000,000 *11CH*2% 880
+AX 600,000 *2CH*2% 24
202 0o4dl 2,400 2,400
01 =LHNHI 2,400 2,400
OJIZZAIA YPSEX OfH|
2,400,000& 2,400
203 =48] 4,200 4,200
M FA2HARFAI 4,200 4,200
ORNSgERF=AHI 360,000&* 122 4,200
Heas (0122 A) 3,507,900 684,064 2,823,846
SEIEOI2ZAHA) 507,900 594,400 86,500
KL OIXt &afg 507,900 594,400 86,500
311 XS0l Aratat 507,900 594,400 86,500
03 SLEEXL S0l Atatet 507,900 594,400 86,500
02020 KIZH At Ok et 300,300
-0 SHYENSSE £d
10,000,000,0002 *1.365% 136,500
-0 =& AEEA g E Hs2 2HE
4,000,000,0002 *1.365% 54,600
208 SATAl =RMSHE HE
3,000,000,000& *1.365% 40,950
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SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
‘2048 ool S2=7FAY
5,000,000,000& *1.365% 68,250
O20213 XILil ZLSHAIY Ol Xt &AbEt 207,600
-'218 AA=EXs2 HAEAIS
3,000,000,000& *1.730% 51,900
-'218 S AITHA QIE AL
3,000,000,000& *1.730% 51,900
-'21¢ ol S==7AIY
6,000,000, 000& *1.730% 103,800
LHEHH KIS (D121 2EAFA!) 3,000,000 89,654 2,910,346
S HEHAESD |2 WE 3,000,000 0 3,000,000
704 OlIEZ2 3,000,000 0 3,000,000
01 digt= 3,000,000 0 3,000,000

3,000,000,000& 3,000,000




